(ELECTROMAGNETIC
WAVES)

8.1 FfHar (INTrRODUCTION)

wifiprrfe 4 &g it fifunr § fa femst ade Suat dse or ey Twig & 992
Taa Fat v & e owe 2 9ual 99 sart ey an) fen = feare
wiftrfe 6 f&a niit foo oy gg of fa i & &m ufssaas @@ oo geat v
st ygg i aeer dl g, at ferer @ Sftim T st mi e o 1'1'-1?-*1':': =
ﬂ?*ﬁfﬂ'ﬂ*fﬂﬂﬁﬁ?ﬁﬁﬂﬂﬁ?ﬁﬁﬂ?mﬁ‘ AHA a9y HaR=® (18
1879) (James Clerk Maxwell) & f&g Zaq un &la7 fa nme =9 aifad -7'.-
Jor 3| & frge faast ade aufa an' & &= sese =@ faaEl g9 =1 9ud
439 e ageT 31 A @ T8 §OSS T8 w9 5% g9 auves @ =rod [
fire 3 guat 439 yIT gan @ B ahiiiE = fam Zargds e, HaReEs
fapsre, ﬁﬂmﬁﬂﬁﬁamﬂﬁﬁﬂlﬁrﬂnmﬁ*mﬁﬁ}
@uat & féw o 33t @ ade & dw = Ay G fam & Sos 7 femenus
ade = 5 faar)

Quat & fanst »3 9udt 439 w3 Gunt ¥ A=f Ty WE Hoe-wWETT §
Ariie dad, Mitaest wr fig Agg gadn g0 ot allaest § Han=s
mitaas afde 95| &dH o 5% 39 (ofeytfe 4) 99 fuer wdie 2t oo mitaas
faret-gaa=r € A9 es fauwr & afefas au e fowas see ow

Fanes @ mitaest feF Q99 & HonE T TE AE T iEEue
Ffeyaat feast Suat Iiar o T o I T 7 us's fF9 faw e 78, il
&% guse (MU &9 §9, coupled) fawst = Su5a1 ugs a5 | HaneEs @
mtaest niga, fEast Idar & 78, YaHl Hiuz (Optical measurement)
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AHN aB'9d HIAAES
{1831 1879) (James
Clerk Maxwell) RFa'e@&s &
nifgw wddr (€9 A&7 1927
FEt ¥ HoTesIW Sfax
fefamrat feg ffa 7s)
STt & THT T mEwt Fhat
anft ardts &t 2 & =
fovire fe@nis ata wim
Gu ozt ufos Satfag fiw
s froat & femgwar
{viscosity) »ife Wius Har
aHMT I 22T Jad niefae
Gantesr @ fegzAdar
MABS W17 | HaASS & A
F &5 Qumadt, feast mia
gEETT ¥ (B, WaHeE,
tE wiE ST oniaT i
are) fset @ Sdtaas onrar
HaTd AHtEasT & fBa AHT UR
a5 A, frast & wie wet
HEASE 5 &8 e df|
fewst & wrurg 3 Qo fermy
3 =0 Hdg=uTs fie I uw
f& y=w, foes gaat I5ardt
TJIyd ot aw fea T fa
Har=®, s975 @ faast
nuwzs @ ot 3 e fom
feegsmafig st fa
famst &t yfaesta=sgu e
o

oTET UF UETH & 98 (3 x10° m/s) © Sagdr 99H9
a=t 31 few T it few wag=yas e 3 Uwe of fa yam
fea femsaadt 3391 3| few 397, Hanes € a9d & fawst,
YEEIT »iF Ya'H ¥ H3gT O vdid0s a9 fuarl 1885 €9,
Jgew & yiiar envrer famast duat Idar & 9w § yeefew
1371 yadal  (Marconi) M3 39 HRgds=t & AH-AH,
fewe Faatat Qudier few fae € d=e f&e 7 gist &=,
Bve niw WA Y3y et ot

[displacement current) @ &3 w3 Gre ufgeyt @ foir
feg wawr agtdr feg wit fams dwat 3dar e fog
fe=ag=rava foze ur gatar fers Jeat 9o o fugs
FIE@H (broad spectrum) & @y fag=t (Idar savet
~10"7 m) T & F ¥t T FdAT (FFIr S¥Et ~10° m)
I efen d, @ne fen few savr &=t w=aft) ioe y=at
T Y It FiEbat 05, few few @ wiftnrfe 15 few
ga9T adtdl|

8.2 fermaus age

(DispLACEMENT CURRENT)

nifmife 4 f&9 ot @y 93 ot fg famst aoe »rus o9
yH fig gEat 439 Uer aeer J| Hownes & sanfenr fa
399 Fa1g d< wef feg wgat I fa wese =@ fanst yzg &t
g9at 439 U 595 | fow yg= wgg dt vige = &, faGfa
e 3316 &ar, arut faget, w3 fer ygm @ fesrer <t 39
AT faas 99at Idar @t I o fenrfinr gaer T

feg euz =¥t fa ufezazsrls famet y=e fan 397 99=t
39 ¥ @3z v gas geer 719G, fai autwes & 99w
d= =t yfafonr 3 fegra et w3 autwes & grae faw fiw
I d9dt ¥379 fapr @95 & SE nivuite © ReEe 2 fauy
(nifomrrfe 4)

{Bedl =y i (1) (8.1)

& =93 Fa!

937 8.1(a) &9 féa mita9 uBz ditaes, C Safomr
famr S afianfAd meac e gard fAR e Air @ &
OB §J7 dde i (t) =91 faar 71 =&, avtae uSz ditves
v ggdt 4Ie few nfes foam fie A= fa P T 9uat 43w

femis adie | fewe set, wrt r waw fenrw B ffg miE® 999 »are By &9
a7 fAmeT 3% F9e =99 39 o fenr € dugy T wI famer o9 39 @ Que
%fﬁﬁﬁ.l[a]]lwéméﬁﬁaﬁlﬂﬁé#fﬂwmﬁﬁm
Tg9 »iad gu € ud € forr few I w3 gy € g9g fiw J7 fewer ufore
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“ . . % Wl

"woHg 7| few gaw, 7 439 o ufews B T 3t mitaes (8.1) @ dur ymr B

(2rn) ¥ N
B (2rr) = g (1) (8 .2) “4—’—|£4|j : 5
gz fer dvr =8 fég 30 ngr 3 feure a9 feg WS & ware & ffa mgr .
T 7 g9 § faZ <t goet &t 9 (937 8.1(b)] T feret 3=t dunes ot €& +
vdet 8 fegaw § w3 Sner v Que wues 13 Saw wew By I ondt ©
wfadt mgr (fast S @) fefes aaw @ wrarg @1 T @37 [8.1(0)] )

HHTE Ugied @it wfad bt Rgret w8t siiuse o faoy sarBe 3
WHT yug doe 7F fa mflaes (8.1) © 89 UR &7 W 37 &df 9e8eT 9 ug i ,
U T 0E T AT i (0, fa@fx fE3T 8.1m) W (o) feT T i
SRt AT fed @t g adt Awer T fewmet, waT wowe fé fedur 10—
(Contradiction) &% der 9| few 2g* ai=a" adi 37 fig P J 981 439 J; \
endt FrEaT w9tE 3T P 2 guat 439 fAee de 91 fa@fy feu feauam rre
EHTET BT ST AT wHUDe € Aeae fam & aes e gur 3 few fao &
grfew &8t ue afg fapdar 31 afg favyr few ye wifdar o= gdter fa awe faw
& Agt @1 293 adtE fiw P I SEdt §39 T AWS WA YU g Srdter 91 W

ﬁﬂﬁ?ﬁ&lfﬂ]é‘hﬂﬁﬁéﬂﬁ?ﬂfﬁﬂﬁ?%ﬂﬁ -
BarfenT A7 RaeT J1 &t dutRes St uget ® feust nafo s fev dust 79 b 3
far it @ wrs &9 ufg=eaas T faor 31 #1 of, vins feg Gos' feg faast 43 iy
wew far 31 7 fives B wdet ST AR S feR I wwa 9 |
3% 37 uBer feu famet 439 E @ ufowe (Q/A) /e, &7 J (€8 Alees 2.41) | “”j
fea 439 foze 939 8.1(c) < Fafo S © du9gy 7| ferer ufay= Sutmes S :
UB2t € 439en A J "Hovee dfger 9 ud feost € wae fAge T Aier 91 fersE, c
nafa s fes dwe =@ faast e%an ar9A (Gauess Law) < faad & =53 (o)

&% J5 MEH'e 9T fémw 8.1 fifr s usz

c anitwea C, # fEa wifma
¢E='E5A=l-f)ﬂ=g (8,3) Ao & gmar J fam e A
' gy A £, " @ e ufesgaeis wae |
g= & ftwes Tt uBet I graw Q AW € &' gewer ge 3 fey fig aue ‘;I_'Ll”-,._q,_iaflmz;g
i = (d@/dn T=ar| fermet mitaes (8.3) Ry
suaaEapie s ﬂaﬁ"l
dd, d| @ 1 dg =T UgT a9% BEl gEremr
dt =gt iy T Tl f famr 3. ib) fofg fe'a iz
i 5 e, AIfa eanTe anel i
feg feafeme gger T fa v & fauy f&9 farst &9, # @ftwzad res femott
umet & fou gt O wed
(d'I'E ] , |a) fe earremr fame Bu
il

T

2 (B.4)  foper fani &1, (o) fowr (fefen
ot wirfgat o | i e wafa
fedt nitre € waae fawny 2 afa farm ue 31 & wift fan & Rgr 3 g =l ot O, da e
IBET T T 9% a9e (€9, ¢, FIT fAEHT eman € ufgeegs & g TU T WOITE AEE
TEE It ot Ahidteie € Faae fomn e fewmitaes a9 AEe OF | 3T AEPHT e umer 8 fee 51 2
AgreT & BEt gde T WS [ ANTS d=dr| 37 fag S autiie o fennilaes  auimes wEe @ fes fEw
fsmnt Farl= 3 B & yuZ wis &9 e feferat adt wraalt | firg p 3, per W 3 el e san@e
WS ET%-H1g Ot T2ar dng fewet areer a9n € & oAt a8t < AgT e o

yget & 9799, fait filg P 3 B v wis @t 3<ar 7 st 9ne e fg M 3 279
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L r-' dd,
N _I B-di= pgi +u, &, -

Jer gdter (939 8.1(a))| ¥eat & =9 € 998 o feg § ade =T
T 8" & o7 &d7 (conduction current) faar Aer 71 milEEs (8.4) war
fenfarz a9z fea s=t ue 91 7 ufo=gssHts faast ¥39 (vt faast femaue,
fear ugreT uw fam & e 2t ge-ae Tafzd ateT §) € aes I feg w@er
d1 few & fewsel fepgus ade v Hanes o fergus ade faor afe )
fazs 8.2, Gus =9=% 91 A3 Bz dulHes © wieq foasT W2 Juat 439
TaRgEr I
Har=s wniar a13T famr fenmitass 3= I3 &Y niged O g9t
Y39 e 72 frae =9 gadt 3 sfeorr 8% faqst a3z ot =97 9=,
safa A @ Ay faast 437 &9 seas & v9 =t ferer a9s 5=
Aarel J1 208 A 39 3 fen o § adie 37 g% ade i, i o faafene
HTHG ®@9E M i (= g, (day,/dy) ever faefene femaus a@e € #@
& HgvHd der 7|
(=t o By ik
E el r (i} lj.f {815]
AE mEet &9 ferer wag T fa anftres Ot uZe @ o7 fige
TEE qd2 i - { Jer J WT F feneus Fde a4t 9o, HIFF i, = 0]
mwm?mmmﬂfmwm;—ﬂw
fige femeus gz derd MR & 1, = 1
f%‘*ﬁ”ﬂﬂﬂﬁtﬂi?ﬂﬂ'?ﬁ?m?mm?mm

£ (8. 11wa|mmf§awa“maﬂa&ﬂ3ﬁr e T &e

. BU g, hﬂ*mwgﬁmmmmmﬂmm?ﬁa

Is I ger 31" ferum gu R oo fauw

B.6
Y (8.6)

w2 fer & witeg fanes fawy afds a1
fam & iy 3 fereus a9 & 3f3a yare 985 ade © 5909 05|

f@gw 8.2 (a) ditwed ot

sz @ fdanfusfie M 3
fawmT wag E wia gt
g3 B (b) 3w (a) e

gy Afastwt fEg, Goade e, faf oo 3w fow foafos feast b7
© &8l femanus ade v W free § maer T fa@fa 9t faast d=9 E
M € 578 ufe=afzg &4t der| gv endtt wfagtr féa, fad fa Gue
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frams e Wy

€ 91 9afAT T 99 artuRes e son ~ 2 s wae €5 ot iige
T Hae U5 | UF SY-9Y AEST 3| U 207 oe3t few €F ot f¥ el
¥ Hge § mae 95 fa@fa aet @ wimn yee s af ydt =zt fawst a0t
&4t e | 7Y T 39 Iy fev T fa fan fews d=e feu fag a9t <t 9os a3
&9T 9uT, A ¥ & ufseggarts fanst 439 € gos free feraus ade ot
ger 3| »ifvd u=w fEw, smum &9t (978%) g9e 73 &7 7= T & 9uet U39
Hge =ar | fen fereus ade & I o Ifduwmrat yter ewmer wfag st
AT HaeE 9| Geoas € wEt 937 8.2(a) ¥ Suiiwes Pt uBer few (75 56
firg M ) Yuet 439 wrfipr W FEET ) few Bt Gt of TRar fasT fa Tow
@ fan fag o 8@ P) 31
feranis ade € (waeT wigwa ) geamit 5319 95| fea 39 fan =5 e
fowrs f8aew waefag der 4, @aﬁaahhﬂmwmwaﬁw
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= F R - —— < L T el W e s - S T
e e . S, e T T WSS L TR T e ) T ST

M TF T 9 95| ¥9F € yge it fawy oo Sne o fa ifes faast

TUF 9% dudl Iman Yfgeess f o € gove v 3| 7=, fa@fy 9 fEewrt
InZ v Refmstea es, fig 1 S fag s Smfemt awm § S wre
téﬂm?hmrmmfawﬁﬁawﬁﬂﬁ?aﬁfﬁmmﬁmm
ew;ﬁan*afaaﬁmaafé‘eﬁzmmmmmﬁwmwrﬁ
few 397 =t afo mae of fa W @ &= ufs=aasits Jwat ¥a9, foaat dag or
mmfwaﬁhwamtmmm g5a7 ¥a7 Jeradger
d, 99 © famw = miaT TwT yfsgu § wi femaus g9z @ gwal w9 o
nyaarwuﬁwszamﬂnﬁémmrﬁmﬁmfﬁmﬁ
Mwmaﬁiwaﬁmammahwwmm
e Agae € famd few aus & wIerave ywgst 31 faE ade, 96 gae 3 e
far mitaas (8. 5}feqwa|ﬁwmmf?ﬁamﬂmzfn?ﬁaﬂg
%ﬁwﬁwaﬁﬁhﬁmﬁm%mml

. §E-dA=0Q/e, (et Fréat arw faona
2. §B-d&=g (F=aI #Edt are fsm)
3 §E-d1=lda-%- (@93 fam)

4. §Bdl=pi, +uﬂs‘,ﬂ$ pinfea RS fao)

e as 6.1 feq ANtag ude dultwed faw ot S58 ware udet o vy fewR
1 m 3, Tfe37 (capacitance) 1 nF I| ANt { = 0 T fend Taia=z 798 © &t
R = 1 M@ g yfsane & 5w ots fEg av o et s afanr famr 7 (foe
8.8)1 107"s @ e \fivey @ f¥9 957 uBet © g w3 Qua' @ @ < famas
feware Afaz fig P Suat Sag evugTad | (A t T aNeg I a7 ¢ () = OV
fl-exp (/) @& T, fra Ayt Afeeia 1= CR J)

«----_-_Gh--"'ﬂ_'lj“" OF = 0.5m
T: wa
2V
fdsans

J— OR AgaE BT AWt AfEE W © = CR = 10~ %, fen et
gl = CV [1-exp (- tf1)] :

=2 x 107 l-exp (- t/107]
t Al 3 uFe fdfe famet i=g

© fog i 21 et 39T aveT = 50T 3| fawast ¥se § Ier a9 a2 feast graat ot gt
éﬁaﬂﬂm@ﬂa‘@mfaﬁm, magnetic munupnle?ﬁﬁ;ﬁ'?ﬁ:fﬂ'ﬁl
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8.1

E=E£=£;;A=ﬂ[]]ﬂmanmmm

g firg P 3 gwee 9% uBer < mitEe o (1/2) m»aw fen @ §a3 weled gu
ot FEUsT 991 By & 93w firg 3 dua 439 B T uforrE gavee 3 3 fewed fewr
gy &t fowr feg 31 v f=¥ Sue 98 o530 0, T 0TS -

@, = E x BYU &7 §44€8 _

@ 4
- Exnx[l] 1=—-ﬁ§--_-*-
2 4
dp, 1dg. e
iy =8, dt —adt I‘Jﬁxlﬂ.e.xp{ )
t = 107%. 4= F 7= BU € BEt mhiine e faont s7g @95 3,

1 1
B z:m(EJ—-‘.pﬂ (i +t:)= 1o (04 i4) = 0.5%x10 " expi-1)
#f, B=0.74 x 107°T

8.3 favimdual 3991 (ELEcTROMAGNETIC WAVES)

8.3.1 34U @ AT (Sources of electromagnetic waves)

farsaaal (electromagnetic AT &9 em) Fdar fa< Uer gent o7 &7 3t
nfgg 99w, &5 91 €a mrrs st &% I8e 9F 99 (AfEg ade), favs ggat
I&art € R T mae o5 | fa@fa, afeg gon 3t faoe Afge fawst yse e qee
75 A fg arghrs 99w g9at t39 2t Ueor gae o5 wo G0 av € &%
ufs=afas &t dur| Hanes @ faurs o feo g wageyes fier 9 fa y=fae
9o famm 99at F9ar fefafag g asiIfen s e e ywe femumaa @
ferge wzw T uT T, yT it fen § HE 30 3 geava fe2vs @ a9 3 HE
ae ot Ve sG fa feg gan T 7 fai fanfog srfeft s Ses ag faor @
(&t E% gaer Ifenr gan <t fig y=farz 99w v Gooes 01 feo SR u=w
ey fea ¥ oo fanst 439 & Uer gevT 7 A WS f¥a 8a qev gudt 439
& 7av féer 7 7 feg fig Ow% gov fawst 439 & @oust er gos geer g
w3 fea yfafer as<t afdet 3| fersdt S50 goe famst w Juat use fBw
eRd & Uer aee ua 7 few 39t afo rae o fa Iaar argt qeet 31 geast gu
f&e famm Juat Fdar o nifegl, gaat & Sast o mifest & sorag 3t O
TS Faar &% gt Qor, Ag 7 y=farz gvew & Gewr 3t yuz e a1

fugst gavr & »owe T fog § raer T fa fon sfewast v Yy fa yae
fare Juat Iaar T, AT It T Aeer 31 mAt feae ag Aae of fa few yam (As
#8 utar) Ter q9s et Ag oA ffq 9ed § 87 ygw & wrisst o sva
ga=ge gel ffa ac Aoae & 85 T W@ weAw o 3% § fa wfFer fe= &t
1 UtE yaw & wrfedt sagar 6 x 10" Hz § 7% fa 5o &t »rufss
feBaefaa maaet T < 7 rifueaw wifedt wd yuz <t § €a sargar 10"
Hz d=t 31 fedt avam T fa #e° femmaaat e o yafaw yeans afemr 3t
€1 faus wrfedt @bt Faar (T2 3dar & 37 feu) @ &t &t ofewr, fa='
far g@ew € y@ar (1887) € WHS few ¥4 Rae Tt

i




y&ar & "aRat @8t et w3 few ywer few 439 few o
HIZRYdE grav © SEl YT e o 5o | few iy fog
€ HWig=euge Queattnt e §8y digT AreT g=er 71 geew
€ yGdl € HI A® ¥, A9 999 R (Jagdish
Chander Bose) & a&a 3" few aow g9a 98 7=t e 39497
B9 (25 mm T 5 mm) I faust Faer e g9 w3
Gust § Ufuz aus &9 resa yuz ot Gost e yGer
=t ggew ¥ ydar @ gt ot At faor

sarer 8n A feest few g@miE weaat (Guglielmo
Marconi) & J82H € @'ad § edarfent W3 et fadHtes 3a
a3t Haaat € yGdr 58 Ae9 ¢ U39 fev faas dut
Fgar & Quser & gera Jet
8.8.2 feaw gual gaar o gamf

(Nature of electromagnetic waves)

Hames ot mtaest @ worg 3 feg werfenr A7 Faer
¥ far fan fonsawst 3@ &9 favst w2 9uat b=3e fiw
AT € Bugy 4O U5 w3 fenet ot & few € <) femaus
Fdz 3 i3t aEt 999 € wmug 3 < few e Aee uSts
ger 7| fze 8.2, 2 fewe g9 aulwer &9 usgezt @ feasr
fawst 439 uBer € dugy Jer 31 feraus ade g Uer
Juat H39 duned St uFeT @ AMTaT 999 oF ferr 2% 3
few wet few nfadt f€9 B w3 E »uw few dwgv o5 feor
fea »my 5= T

fi39 8.4 f&g niit 2 ferr few o1t geet avt fea mias
favsgsat Idar = ays o Geves yeefas ater T fan
At 2, 439 § z-feaew W € eun © gu fea oanrfenr
farur §)) famst ¥z £, x-ue <1 feur =% T »3 faw wi ¢
3 z ¥ &% AEI5 (Sine) Tw ¥ gy &% ufe=efaz der 3
et 139 B, y-Ud ot forr =8 I iJ fea <t 2 & 575 Aot

[smc}guﬁauhaahagmmﬁm:meﬁ: w3 Just 439 B, féa gre &
e s WI ot Ot fewr 2 S 8 JU TS | E W3 B ﬁnm‘raﬁfwnﬁm‘fau

Aee gt
E=E, sin {lez-mt) [8.7(a)]

B = B, sin (kz-ot) [8.7(b)]
faukm@a&sre‘taﬁar#waﬂfgq
fovafeyz g 3-

k= = (8.8)

Hare® ¢ fAuig € udye © =9t a1 3 gdew @ Fes

(PES1LER1) B2BD 2R@eP PPION

A g9 8.4 e it afes feneduat oiar & «fow S ot ae ot &
»T folf o F2t wrfedt T, k I9ar  wiE fave 2us aee faas! 99 B, «fow o8 wF &5s goo Joat

Afer (7 913t Afew) k e ufers

Uz s, yfewes T
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Simulate propagation of electromagnetic waves

=
iR AT
HI IR WA

g YyHdE
OAWA. COTTH W aW

o

Y

LE

fares daat Iar

femr gdar & argt < ferr § =efes Feet 71 Idar & oSt I
(w/k) T E, %3 B, & wet mitgeat [8.7(a) W3 (b)] M3 Hemes € mitaes &
Fd9 g9 IR 96 By yfeew 3 U7 Age d—

w= ck, f78, c = 1/ JI,E, ++ [8.9())

AHiEEs © = ck, AT Idar @ st Yirfea 78T § (@F a7 X1 Sfaw
fefamrs & us un3a, ATRE 15.4) » 99 few FET & wifedt, v (=w/21)
wF Faar BETEL, 4 (=2n/k) € vt &9 few gu &5 fafunr ater 3-
ZW:C[EE-] "

A Hr
vi = ¢ [8.9(b)]
Hares € AlaesT & wog 3 few e 3 U 7 Raer § fa faw
oTeT Fufug 05—

B, = (E, /¢ (8.10)

ge At favs gual 3dar € gy geet I fousht aoe of | feo yaa mes
" fsg=rz fE9, Gt mia Judt y=et @ Aeilns 556 os| feo fen weg 99
o I AF T HAPHS SISt arebyt 39 3dar I 2w 9% fa feost &9
fa8t 71 Just uIet @ IuaT € Bt fanw 3T oy St &= 59§t o=
few uat 3dar staffelst gt ddtt o5 7 o=t &t fowr few adlzst w3
fegget & gu &9 gacht 05| et &t AgT 3 zomwan Idar &y, fre-fae
Faar fula+t 35 &9 goe =5 exdh o5 uSt © a= Qus-88 =8 d¢ o7
fez w3 fegue o fegu gaws o8 & (9 & zomean fegmfew 3o arst
a9 rEemT 95| §SIST ret € fefopuatat § few dsfow a3 & wifeat
nreg § aret /i fa Quat § ffa wfwd reefenmdt Wity & aous dist &
At a2t W3 A uereE €9 Age it w3 7 fawst w3 uet g3 @ yfy
wifwat fafenm-yufsfamr ager At fa=’ a6t 2 femmfex wifmns ager 7)1 Gost
& few Wit § 2755 (ether) a0 féar| @7 few diae Wity &t memet @ met
feq gan <% wa fa g woge a&a 7188 (Sir Arthur Conan Doyle) (7 fa
HHgY HEH B9&d JBHH € 9957 §937) & & UEles 83¢ (Poison Belt) &Ha
&% € g9a i3t fan fev Av iew fég afodls digg =@ 439 3 Swer
Wisnm famr 31 o= »mt Ared af fa few gt € fai e wioms &t &= =97
3| HElRBHE 73 He® (Michelson and Morley) ¥ 1887 &g a3 a1 HEgd
yGar & gge O guusT § ydt 3§t 8-949t a9 féem miw w3 me i I8
AEe 5|

g, # fea Ifaa Wity »ms 3% fige 32 3t &t IS »t ree ot
fa yaw famsdaat 339 ot 05, @oges € Bt 49 feF ot ager O wt
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Gaar Afuz =t ot 9) o<,

U

P‘; (8.12)

Ae 39 Ou 308 99 F U9t T 37 IRt wage a0 d fa 3oF 38 owar
fevaasdt zdar fAfuz gt a adtelt o5 (FovT 99 geW @ dfeT T
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U _6.48x10°J

== = 2,16 x 107 kg m/s
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[sinosidal) S91 578 385 &d0 75 | F8AHIE Eaat vz g9at g9 £ wiZ Boruy
o fansgast Zdar & fava & fonr @ Sugu 39 05 | 209 &t fowr =5 farfas
et v i3 ITAEEET A o faF 389 © v fevsfeys 597 Susan o

E =E)=E sin (kz - wt)

e . P
E, sin [EE(I—WJ]=E”sm[.&n[1- T]‘

Buit} = H‘c, sin [kz - w1

N

feg wun & favafsfuz R evar Mfoz o5 £ /B, - o

. fog== So faradust 309 & 98 o, y, W3 ¢, (999 Mima vz famiie o
s fenagAafag e = 1/ |1, £, o & H UEHF Ut eniar Y yam
% o HdHd der |

yary foe farwaeat Idar 7 feree! o yamm & & 9ve 3| yamy @ fearsr sl
fanmaea! 991 o He g e fRe @ T ® 0 T

ya 7t farst guet I9ar & fan Sfsa wfmemi few am o~ 1/ Jur 3979
fod p wfomng o geaiessT wia - faast wtea 7

. feasdeat zdar A€ fum™i (space) €9 Fams aaeint o5 I wue o Saa
sfos gaeint o5 w3 fea Govr famal iz g9at 439 99 2351 =7 01
farmaadt sdar d=ar o &1 <fos et a5 1 7& feo 3gar fam wafo 3 0o
g5 3t Qu Agr F v vt os 17 (Ad e R & revstalas ques Sae
uaE 3t aafa & fezr famer d& f=ar p = u/c 320

o
i

1}

. fovst 9uat 399 o fudey frursa 39 3 360 &t was o few eat det )

WP AF 107 m 3 10" m I3 Iqn Ega T Sue ge g g mafeg sae =
-2y T Y-S FH 57 fon It A w78, - faest, X faast, ueEare

' 5
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8.1

oo yerag &% fRET W SE9T YFat € gorgr »iruHT fafonr geet 0 AR e s
Frd weraet (9 Vige oen 384 B a9 fow 35 | fersrfas nmumt fafonr »3 fer
g7 e, fUEE (scatiering) wirfe &t farfour fedt em S9ar ot 3997 SEet wI
wefimin & usre wid wienit ot Yfaest 3 fsgse gadt 31

feggeter f@F (POINTS TO PONDER)

Sy -2 =" S foFe SUEt Iaar @7 HEsT vigd Quat dhit Idar SarEnt

Ftwrfegt 29 sfaor § a8 feo vt fereg R il ftases

BwHit 9F | ST =, mwmmmmmmw

Roggg =y

2. u=farg g9 a= fases g9t Qoar fefafoz q9@ o5 favs 9uat I3 &
e B v AR F5aT (<faen ags =T fAney @ ety 3 faaga aaet 31
fer =gt f9as fowne Fga@eet 101 m T 107 me fega g, feimgy
g uyewrs arize 7 U Ot 3| X-faesT a7dt uawrenT 2 Gawafas oait
a% | fair maae fdw yefars fedaest 3 3516 gdar e oot 0| e
ZamHles wiElsT Hge t eane o Quat Fvar § fefafes ag roer 4 frost
It I FavE 9 ufavre & 7, foor ufonre 2T At dTsT I SR UaTE e oHTaT
Sanafn= fow fefags 91 349 9ot uae € wie™ 3 5o SUget J|

3. farsawal searer Fnsnis yge grant & y2fars a9 aaer o w2 feu Seorts
e e qa Raer O | fersd fams S9et 39ar o Uz sards =u  Guaess
faahv= o s Ga for 95 T varfes oF |agew o ey forites sla @R 37
o maeT | APt wofes feeolag gadtv fes ferye Ao S =es
et 81 € nrfest En fameggst sgart e ygr end! fedt 51 sar@e ot
W Gust dfaa ygr=t 3 nmrfas 3, frost § G ueren € o nrurt fafanr -
THaT U dow 5 |

4. femearag gaart first ot nrfest feg yare 3 ufz 39t 3, 57 fros feBaeat
& FUE FTTE ST O BT UDTEE 2 AT USHTEMT T oiEni & ergamt
T | [ea s wiafoa Gamr & =w@ e G wd wdta = Iu g @i fedt aas
o far femearis gaar § wang i sderafde 95|

5, Al & HEesHlaar oT o'wd §ad ¥ 3491 SuEl ¥ @ Aeg S Uerd|

wifirar fereset Tienr T faG fa vy fow syt feafrs Sfenr o fa Gret fodt

%FBHWWE@E?EWMHFWWW

'HE'?‘I-I'E'HUI

939 4.6 fea Ba qultnes vanfour famr 3§ 12 cm waafeny St @ Sog
WETE USET E 5.0 cm T 261 2 Tud 5= o fapr 3 18hfinee & fear sodt iz @
foge (S sdtommfow famr T owgreefnz dizra foor i oenaes =T
goe el s eroma feme = 0. 15A T

(a) alHet w3 uSer € fEe uZws vige ufseess St egeruzraqd|

(b} uset2 fegfemausadeuzrad|

—
'

wife™H (EXERCISES)

s N




e —
T e e s —

8.2

8.3

8.4

8.5

8.6

8.7

(c) &t foege v ufost famy dfires &t oda U@z 3 &g o 37 AuRe &3

______ -

ffsva.6
féa mvtza uBz diflnes (539 8.7), R= 6.0 cm »aafess St & Ja9 niag
uSet 3 afenr 3w ferat WltAET C= 100 pF T 180ftHza § 230V, 300 rad s
' &t (a2t wirfeSt @ fan iz &% Afawr fapar 31
{a) IBEFIE T rms WS & d7
(b) =roEsade fergus g3z & 9avHg 37
(¢) wBetffe @ T 3.0cmItef Tafaz e I Borwovuzras)

U O

W

fi=a8.7
10'° m 339 FEt @t X-fagat, 6800 A =331 978 € Ua™H #F 500m Tt
T Faar @ eut fan Sfaa ot e s garea J7
fea migs faredeat 3991 fagera 99 2 g9 &t fowr =5 9w o0t 31 fere famst
= guat 4397 @ Afen &t four wa ot St aodr? & 29 =t »rfest 30 MHz 32
It Ot 3gar duret fast gea
e 3516 7.5 MHz ' 12 MHz 87 € faw rens a's fe@s atzrar Aaer J | fare
Faar BETET §F &t g=ar?
fea wrafaz g »iruzt Wi mfadt @ 38° uit 107 He wrfedt s S8 aaer 4
S5 g e fawagest Iaar &t nrfeat fast 37
fagsrz 59 fig wreaz fowet 9uat Z9ar @ Jyst 4=9 =8 39 €7 Wy
B, =510 nT 313§ € fawst 49 =8 373 @7 Wy &1 d¢ 2095

" d -
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8.9

8.10

8.11

8.12

8.12

asusT a8 fa oS fanedea 399 @ fams tg - wr@ W E, = 120 N/C I3
ferst mrfEdt v = 50.0 MHz T 1 (a) B, kT A famr= 57, (b) Ew3 BS B¢
fermmayuz a91

farmawat Aimed € $y-<9 grar €1 ufasir us ypes f&w fe gt ot o1gae
E = hv(femas 2 fig g=ten & Qv & 881 @278 o Quiiar 9 vF em S92+
© Ty 2y ITI0 @ BET eV € HIod e dos € @onr e |ges Qe v <Y<y
yfere gt yuz gav 7 89 feamanal fefaes & nazt &= fan 397 Aafuz
a57

feg mHF® em Iaa fE9 famas 439, 2.0 x 10" Hewfegt w2 48 Vm' wiroy
& ATETE =@ET 2T (sinusoidal) 5% % gdeT T

(a) Zdar et Idar Buet faat 7

(b) SBEHIE uaT 4T T HTEH o J7

(v) fegeem& T Eugg et vins @er wear, Bage St siRg Bem waar @
FET J[e=3% 10°m s

99 Mfew™ (ADDITIONAL EXERCISES)

aFBUET 79 (a fagers (9 fiw fave duat 3qar o favm vaw

E = {(3.1 N/C) cos [(1.8 rad/m) y + [5.4 x 10° rad/s)]| .

(a) =d91 A= ot fewr st ar

(b) Idar&eret i faxr a7

e} =fest v fE=tar

(d) Zdar Jus §39 ufew o wany fast 37

100 W famsl 987 &1 7ast o sa9a 5% fon fefafe= fe s a0

(a) ¥BEF Im St 3,

(bl 10 m & gt I fow fefage S »winz Jeaar fa=r 37

f'?r'.fFrﬁ_i‘fﬁ'f%ﬁaﬁm{isnlrn]ﬂn}@mﬁ?ﬂ?ﬁmémﬁw

ol

em TaSgH & Y FY Fart & e feEw 3w 39 § famg ags € wET

A, T=0.29 em K 39 €1 93 79 | 7 Afawrst 3oy fiaeh o5 o &t onabyt

ast

fere<met fefaas s mafog o5 gvimge Y= 3fget fee fan Soymar fss

fevmaeal o3 are 95 | Flaer @ S9 gar o7 €8y a9 fam o= feost fed oag

HETF T

(al 21 cm (WSF-Taat way g uaa=t TEIEaHES o arefas =9
wHEET)

(b) 1057 MHz (&9 fe9®a (lamb <hift) 5™ 58 Wege, Telzaws 99, 35
wE 8 € 438 Buwr imgt F e fefaas drnrfeah)

£ 2.7 K [Ayes yns 9 g9a e mifew<t fefaes o= fifas awwrs
Wmﬁm%ﬁm‘mﬁ’?%ﬁwmmw
]l

{d] BHGD A - 5896 A [FaTniH Stwit Sudt™ STETsT)]

{e) 14.4 keV [""Fe afaq & feg fedm #@vs (particular transition) &t
Gewr 7 vige S feges o rlget fedi & Fifag T (wwie rliegramdt,
Mdasshauer spectroscopy)




8.15 s fEaymster@avfed:

(a)
(b)
el
(d)
(e}

{f

&4 gdt @ 3916 s wy I8 ¥y drwe T wee om 1 fa

Fet gat @ TV zatmiins @ met Quarfo ot 2o wadt 1 28

yarH! 3 3916 geeaH! usst 3 fasfia a3 wie os ue X-faas v fefamrs
e nifeis wast &t useranr gaa uarfont e It few ow | fal
FHIUNES (stratosphere) & Qudt AT 3 82 faet Gs wez vl e @
wet faanen 71 fag

H 0T F T HEw 57 9O 3t QRT 09TIE T AIRT IS SaHEs IUNTE
FEuderar e

gy fefemrfsat & sfewe=t o=t 3 fa uest 3 wrfast fame oo & s
B orfeat Migars’ T2ar fawer ueaht @ wiet 3 feamardt ygr= ud@am)
fen afévygrat or &t g GEar?
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e —
[ ST -
us 1

1.1 6% 107 N (hETRs)
1.2 (a) 12 cm
(b) 0.2 N (WEdEs)
1.3 2.4 x 10% feg g e w3 fog fedaes (moagedhr Ifagde= a2 fde
Ha1 fams? 8% w3 P oeRs I T HEUTT J)
1.5 gﬁﬂ?#mmwrmmﬁamigﬂﬁﬂgﬁamw
|
1.6 ON
1.8 (a) 54x 10°NC' OB ferr =8
(b) 8.1 x 107 N OA & fewr =5
1.9 G 9eaHig I gt iNe =7.5% 10" C m o9 &t ferr =5
1.10 10° Nm
1.11 (a) 2x10Y G5 T usHEIT
(b) af, u@ fsgr=t wemer fga (= 2 x 107" kg Gooes 9
1.12 (a) 1.5 = 10° N
b) 0.24 N
13 5.7 % 10°% N
14 999 1T 2 faw an, o 2 UE O ' 3 O 9vay U9 s wiaa Iy a)
25.98 N m*/C
18 #le/we few y=w ags svEht Juret & Afvr we I faass o@t gyt &
HATH I |
(a) 0.07 pC
(b) &dt, faee feo fa =gar & veg &2 99a =19 31
1.18 2.2 x 10" N m*/C
1.19 1.9 x 10° N m?/C
1.20 (a) -10° N mP/C: fa@fs 5 vmifemt fee fufer ga9 595 7)
(b) —8.8 nC
1.21 -6.67 nC

1.22 (a) 145 % 107 C
b 1.6 = 10° Nm*/C

P e e e
(]
=]

e
(=1
=]




1.23
1.24
1.25
1.28

1.27

1.28

1.29

1.31
1.32

1.34

us 2

2.1
2.2
2.3

10 uC/m

(a) &9 (b) #d (c) 1.9 N/C

9.81 % 10% mm,.

frew (c) a1 T, oot Afa fewst fse Suret &4t oan Aae | (a) I8 T T= o oo

few 3 fr 499 Suret o & Sugu Tt Srdtenr 9% | (b) 389 T2 o aos feT

7 far 439 duret fo= 9row 3 5 591 T REAT, (d) a9 9 T e aes fea I fa

439 quret o gHe § wdT a2 Rae, (e) a8T T v avas fog  fa Afe famst

439 duret fv gU &9 52T RaEiT U5 |

few w5 foaerav —z ferr &9 107 N weera feg wee famst ize ot four i

75 | AT feg fimrs a9 Fare T far feg @ ug<t €t weet mfggm Q@oar o fomr <t

I graa g 71

(a) A= : wifwdt ar@w wafo 9 7 yat s9t woa T 78 v 929 § U w2

(b) e fsmns (a) e rafaet @ e fea san@er 3 fa g & o8a & wee nafy
F —g Tad Ufaz Fa5+ ardter 91

(c) Quaes & udt IgF o & w2 wafa &% ifenr 7|

RS get w6 wea 3 feera a9 | 37 fawas fere wa9 499 (0/c) & IwIvee

#ia J | fen U39 o Yue fen 3yt 99 e fa feo o Ge Sv @ aas dzawT et

AT T8 € dda 439 BUdiE 96 | 98 2 ee fea 95 a9 sevee g Ome

9% | 5799 few 98 ¥=a ufewre »3 fawr 57 2 feg worme 71 foredt o sg o aat

ﬁwm{%]ﬁﬁl

piuud; noudd.

(a) Haz: fen & yas owig AT 591 7% 58 fgss reet &, 3 udtys 99w
& fan <t ferr f¥a 8=~ fenerfuz aes 3 Qu AT fety S afgt e g
fanefaar 5% o vigg= agar, »earg, i fedu S afat S 3 mdtet i3
Tyt Hid feiu rfast ot four i niee o= fsaefne Tt i veas #1F
fens rfast @ raus fe rafo 35 T o fon fanst dgs o Se weaem e@aw
FumEr | ug argR 5o € wgare fan famast dge & wifadt mafo fed dwe
THT TEAA, AR enrar S8 gvaw Wfenr s fapyr 3=, Ht9 dor 31 fow =0t
few frese FameEt &dt O AgeT |

(b) @ wrant § @ ot Jur or i fig fmem feiiy fig 31 udtue sow & fon
aur &t four <= fox fie 3 8= fenarfuz a9 | fiwefaer we fer 52ar e for
& 9y @ Bugy AU 79 Jo7g fev yus I=er fa T s few § #tE fedy
fog ¥ ga & wrer J 1 vre a4, iges € reet 3 & rrdter fewre few dinfiar
' grdteT 31

1.6 em

10 cm, 40 cm ¥799 3 €9 fa= 99w ==

2.7 »:10° ¥

(a) AB ¥ #ugun3 fere i fig feS Ta e =8 oo @ 0w fig S yewe A9
a1

(b) % & &ugy AB feur &9
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2.6
2.6

2.7

2.8
2.9

2.10
2.11
2.12

2.13
2.14

2.15

2.17
2.18

2.19
2.20

2.21

(k) 10°NC!
[c) 4.4 x10*NC!

96 pF

(a) 3 pF

(b) 40V

(a) 9@ pF

(bl 2x10cC, 3x10™C 4x10"C

18 pF. 1.8 x 107° C

(a) V=100V, C= 108 pF, @ =1.08 x 10° C
(bl O=18x10"C.C=108 pF. V=166V
1.5 x 10% J

6x 10°J

1.2 J; fag R @39 & snpifara T
Y2HS = 4q/( /3n &, b); GFw e T A fa misr T Site 9
fa) 2.4 x 10° V; 4.0 x 10° vm™' ®ew 2.5 uC 3" 1.5 pC 39

(b) 2.0x 10°V; 6.6 x 10° Vm ' 987 2.5 uC T 1.5 pC § i@z =8t
y T magar 69° ¥ = o fewr fe9)

@ —q/(4nr’), (@+q)/(4nr})

(b) &SR F laws =t v=fow Agr (AW 3 &9t ovow 501 ) 3 ar8w & fauy
&% &2 gen i Tar ardter 71 fra fadt waet nrfaat st a<tet @ =t
fea aret &dT O fa feu over dtsr 772 fa @ne wow famst 439 fReag 9=
Trdter §1 3t T faz T us 97w 3 Haw 75 AR 578 g% 97aH Hig 0=
fer fav=aT § waW 9w € =9, fie &v gu & famer ffa gar dsg o=
dt fegr =& &<t (€9 9% »ia gat yar oeg @ ve | fa@fa sma e vee
fawst 4z ST 3, fev e gy 3 fow udtve won § & mre 2% famet by
e aitar fapur &2 avew e 31t feg arewe o fa faw mfas famst d=e
€ we fog mifge 71 fow &9t a<1ET @ Wiee 439 dy=t 50T 05 (w3 T
Uge x4t), w3 7 @t fad fadt A orfgt SR o S vieg rafo T o
T Sdt g=ar|

/2 ne, r), fAg T&& € 71y go 3 fag ot gdt r 71 8§39 09 © Sagu, 35s T

{a] -27.2 eV

) 13.6 eV

(c} =13.6 eV, 13.6 eV : i o€ fa ufost Afast fide oetems s &t
o Gawr T I

-19.2 eV; Afafaw §avr ar #7 w&F T foour famur 31

ufo® F ore & faast ¥=99 o »aud (b/a) 31 9u? a1 &t guET fid &

nEufenr =78 &% © faf 9791 7% g9 Aae 97 w3 FE1% 3791 § We nad feww

TE T @ AR FaEs|

(a) STEH W IYSHS (= 1/4ng) pf[xztamlﬂ,fEﬁ'p=2qa%U3¥'P
Az er ufare &, + g @n Al e flig q @ 33 O3 - g 68, frl fiy

qEEF NPT A (x . O) fig T ERAS HT T

rZ faggagr 1/ St 33t 4




2.22

2.23

2.24
2.25

2.26

2.27
2.28

2.30

2.31

2.32
2.33
2.34

2.35
2.36

le) 13, 591 fa@fa & Mgt & & nfg famsl Tz ovmer st favu aras

gt @ fe@e o8 Wrear 3 wirare § wigers a9 T Baage st a9
=0 € F, g9 ugS udeE 1/ < IgT, ¥ agt er yenE 1/ ot 39t w3 feds
UdS ¥ UZHE (1/r) ¥ I9T gwsEer 7

1 uF =% 18 sURed’ § 6 AWTae eelat iy feenfas atar 5 oie sots f2g
3 iiHed Bty €91 57% B9 95|

1130 km®

I SutAET = 200/3 pF

Q,=10"¢, V, =100 V; G =0.=10°%C
V=V =50V

g, = 255 x 10¥'¢, 'V, =200 V

a) 2.55 x 10°%J

(b u = 0.113Jm ™, u=(%) g E*

2.67 x 107% )

A S : s w8 fa uset €t gat, Ax &5 =ur fogt atet | st famr e (araat
ilHEb-I"a“'"“F.ﬂx Ifﬂﬂ'ﬁlﬂ'ﬂ?iﬁﬂfﬂﬁﬂaﬁ"ﬁu 1 A E*ﬁ%ﬂ*‘@?é’é‘l—l’
T AreT J, e u GanT wer 3 fenset F= ua W u=(1/2) ¢, BY o w9
aae (1/2) QF © HoTHd J | 5% B9 fow 1 /2 wew v dfaw e few 38 few afamr
i far ov5e © fasas 9 39 £ 3 w3 vred foo @17 51 fow =91 o5 feg ning
E/2 o Gares aer 3|

fa) 55=x 107" F

(b) 4.5 x 107 V

) 1.3x 10V F

(a) =t faGfa difent 3 goa S5 agma =1 51

(b) &t

{c) @W[hﬁ?ﬂﬁ?%ﬁé‘ﬁ?ﬁﬁﬂmﬁwﬁénwmﬁaﬂw
y=ar =t feur enetyt s, & fa 291 &1

fd) 19, yg »itafae e »irfa 3t a¥ <t &=, wiga &t der)

(e) =dtyews fsazed)

(f) fea feaet oy fog Suitves 3 faret ordt U@z wida 3 3

(g} w2t e fég vz &9 maet @ wg=ht e der 01 feg =t favshitesr o
fersaus=e waes gud frots 3 wrorfag 7 fer uisg @ dga 5 90 31

1.2x%x 10" F, 29x 10°V

19 em?

(al "3fg xy 3® & Avigg

(b) BF =37 A (a) Fa, frere fone fa fanfos uZes vige =& oo wum g,
Y U39 FueT I, 3F »iT {iE d5 |

(c) FWEedTE, Fea s e

(d) fa@ < a5 A i 3 seset oifg 3t 7 381-381 fag 3 5o o9 mvrge miast
few sow 7t 1

]

30 cm
REZ: @18 W3 8 € fe9 ugg v, arln feww T, faee g, enier dt fsamae Jer
71 fen &8t 98 »13 us € ¥ yeus waw g, THIITTIH g, Us graw I 3t feg
USHS W3d FeT 0% 2T

301




Taeg L

F" dfga fefomrs

302

2.37

3.1
3.2
3.3

3.4

3.5
3.6
3.7
3.8
3.9

3.10

3.11

3.12
3.13
3.14

3.15

(a] HTET At T UIE AW USRS Afgu @ O AR I vt Foe
ferere It T=T S WS AN USHS AIIT Fom Aret 3 3 AreT frg »is 1est
= USRS g9Hd gfdeT d |

(b) T, = e fa wies fenawes ade J8t-at pepifenn &t ave § 9efea
aaa, Gn T I feme y¥ne § Toeet § 7 ufines (7 9e9, ASE mT
uast-Rafy 3 seer ) of aiwet @ §ue faggs &

(c) ¥a e 29 =g s sara favst o fema wa aevsT 57 Trefvs ger
afier ¥ wid mres oM © dget fee 0 = femefae dur 0188 feadt @3z,
WHEE ASES WerRE (e Je I8 |

(d) wiHrat famst e yars Goar gat 95t §w= &5 T 991 densT fee Iy
w3 oAt Gaer 9 3

a0 A

170,85V

(4) B £

h) 2V, 4V, 6V

lal (20/19) &

(b) 10A, 5 A, 4A; 19A

1027 °C

2.0 x 107 Qm

0.0039 “C

867 °C

gy AR f@a gde = (4/17) A

T AD ffg ade = (6/17) A

FyT BC FEg a32 = (B/17) A:

T BD @9 ade = (-2/17) A

Ay CD €9 ade = (-4/17) A; W2 "dae (S g8 ade = (10/17) A.

(a) X=8.2 0 ghans o ufzay § 2 we =9 e, et aes fam psa ffe
mof &=t aret 3

() AF60.5cmetEdtI

lc] dimesvied Ut ade Sl SdHTEdT |

1 1.5 V 828y 91 5% g9 ufsdoa 9794t A3 T 59 ade § i oeer I | ferst

g7 aradt fE9 g9z yIana SaT &% =u Jr=dit |

2.25 V

2.7 = 10" s (7.5 h)

Tgdt @7 »igy fenl 6.37 « 10° m B8 W uaat e &% von Yu" &6 | AHf =

283 s YT F95 &1 goe 55 fen & g a9 | g2 <1 fow fedt 3og free navs

ot et | few yae 39 3wt &1 31 fagr

fa) 1.4A 119V
(b) 0.005 A; wig=, fa@fa Hea Aeges § g9 AidsT © & 539 20 Fd2
{ ~ 100 A) & &= 3=t T1




3.16

3.17

3.18

3.19

3.20

3.21

3.22

3.23

us 4

4.1
4.2
4.3
4.4
4.5

aFruF T A iE & O (A 99) 5T wWEWT (1.72/2.63) x (8.9/2.7) = 2.2
fa@fa wignitatn gsar 3, fenset ¥ et 3 &4 dunt € =% fen § Towie
#tam ater 31

Gov v famw €9 wegesT 39 &9 Jur 91 fume oz Wamsts &t yfssgasr
FUNS © BUSE 58 Bagdl MysT=t afaet 31

(a)

(b)
(c)
(d]

(a)

(a)
(b

(el

frae oz (fa@fa fea ravet &, wifmar fear fapar &) 33 Arabst et gwr
Raws € 4gdes @ @se wauat 0w

&dt, Fa-Govt nighie @ Gvaes : feewz ooy, nauasy siees|
faGfa Az T o famr So F Suade = ¢/r

7 wia3feg yfaew 593 0 &4t T W3 Ao (& (Tqwes=r) ide Adae T
wter & 3t fe famur ade gefimr e F S0 7 77=am)

2g (b) WE (c) Sarsar mugr=t adar (d) 10%%

(i) BT <1 (i) A AWt S g few; o

(i) 1 Q=T 2 0§ mEe fFa w3 fen Aaws § 30 7S atey few 731
(i) 2 QWF 3 Q € AHT3T AGHS ¢ 1 Q, © &8 SISy few JF (i) e
&2y (iv) ATd ANT3T

) (16/3) £, (i) 5 R.

fag:-imetfandzdesmo Iz yfaauxTimed2 + X/(x+1) = XfAr
waERg X = (1 + J3) Q ferset gz = 3.7 A T

(a)
(b)
(c)
(d)

(e]

£e=1.25 V.
7 e%-fuea Ages fig 3 g9 3 3t duddiies few ade Wiz g9 st
&t

=, 7 yEinites € oo Ae o favet sua 5% » T S0 ITITAB AFES
fire yuz =7t 34|

Faae fog ae gu few ga=t &t 32ar, falfa igws fig (A& eqTmvV @
wrawg =) fAd A T et &3 T9r w3 vrus ffe yfams 39t aga <u 3=t
I9 AB ¥ sty i@ $x=r yf3u R § 79  Aeee § gutsfeg g fiar
farur | frm & fr AB ¥ e uma y2mss gy, wifug famstemas s 3 fiee
&= fagr ot ¥ 339 3w Agws fig 99 € Jv S0 dvvdt 3 TR v
yfams 3§t age e 33

1.7 &

tx 107 T=31x10°T
35x10°T

4% 10°T, yBa : QUE S8
1.2 x 10° T, ¥v= T8

0.6 Nm'
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& Ifza feforms
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i ol

4.14
4.15

4.17

a -
[+

4.19

8.1 % 107 N; w5 = forr gafier @ 45 Jg 2 fsmy onmer R w1 3
2 x 10" N: W'gaAs 55, A € 893U B =5 |

Brx I0*T=286x 10°%T

0.96 N m

{a) 1.4. (b} 1

4.2 cm

18 MHz

(a) 3.1 Nm. (b) &7, €37 xat geser fa@fa 739 (1 = N 1A x B) faf St waa
¥ AHI& SU S8 Fat 31

Brex 10T =1.6% 10 TigH =8

Bard] BarEar 50 om, Haufesry 83791 4 cm, S 9t faregr maEar 400, 39
warEar 10 A | ey fezas g vae vrs &1 T 1 33 Avre &9 feost i@ mreeas
A=

(b) @zwtt & few Ha fie @ W ue 2d Savet & fig 22 fag yee few

o] ] o] ]

i, IR°N 5H2]”” [ 4d]*” [ 4d}3”
—— % | L+ —=— +|1—-——
2 4 5R 5R

WIR'N (4 6d 6d
(A s fr= By B
2R’ 5, 5R 5R

‘ua T e grd w3 e ges e fagt uet i o /R A7 d/ R dhwt S5t
un?mﬁraﬂ?:@wﬁﬁaﬁ?hrwﬁtfa@ﬁ%«l ) Fue d/ ko9 fég

gt 3, s T ate un | few a0 fig 8 t=9 99 5999 99 B 7591

8r2
H={4J .““_IN;[]_TE HQIN_
] R K

Heis : e9vele © wel B v g3 G0t T 7 ASa"E1S @ &¢ B = u, nl| URS wamra

-
n= | 437 frage wfew & fug T8 §v & weg 919 &4 31 (a) #F

2nr
(b1 3.0 x 107 T o= (o) &14 | fows fo@ fa 3w (99 2odls &t g fisms T
wed 3 59 wide I 59 ufswegs der I falfa r o ws gewer 31 @39
(b) W= »iEw f@ r = 25.5 cm € AETT H& 31
(a) wdfsa sarv 7 37 B & mtse O A ufsRdrEg|
(b) o, fa@fa Sual am v o forr 3t o rger § forer ufars &4t 5om gaer|
(c) BF uSeny st o8 Jer grater)
(a) B € SHIY 1.0 mun »aw fenrm av Jag warg anar

(bl 0.5 mm ¥ §F81Ed A" (helical trajectory) 2.3 x 107 m s~ & Zar
=T Wiew Y=g of fanr ffa 9=




4.20

4.21

4.22

4.23

4.24

4.25

4.26
4.27
4.28

fegdtdmn rfest ot feGeaan-Tog firder st 0 o8 T ez g S ama

i v wigura O famrag atar fapr 71399 fgrfeg @99 e, LI wife o581

(a) o fufsdt guat uge famer ufors 0.26 T 9 w2 7 oea @ 89 gy fon
femr &9 wiorir T fa e&fiar o 1w 09 o famy 99at a5 v3ow Gua s
=

(b) 1.176 N.

1.2 N m™"; mugons 551 f8uat 3938588 1.2 x 0.7 = 0.84 N yUg agaT

fﬁ?ﬁﬁﬁﬁtﬁﬁf%:fﬁ'@‘l‘ﬁ‘gﬁF:g”r:'r I, I yfs fearet Suvet 3 ware @

g5 € set fEar famir T, fage wid = duet @ gragt a9 f isaGar 4|

{a) 2.1 N yFer 767 5|

(bl 2.1 N y3em 9&f 25 (Hde »3 B €t fegr ¥ &9 fan =t 5= e a5t Hw
| sin 8 fswfez T = 20 cm)

[c] 1.68 N ¥aem 75T 28

yFar e 1= A xBaI F = [(l x B)

{a) 1.Bx 107° N m, -y fewr ==

(b) Gt # (a) w9 T

fe) 1.8 x 10° N m, -« ferr &%

(d 1.8 x 10 N m, +x feur % 240° or &= g=27ge a8

(e) #ig

() =F

w5 goa nfadt e 919 T afast (e) maet fgss »i Rfast () waa st Aass

ol

(a) #1F (b) #1F (0) 99% fe@aes T 98 T evB = IB/(nAl = 5 x 1077 N fay=t

77 (c) frge gust 55 gfez ager T

108 A
watey few ufsan = 5888 0
fe yfgao = 10 mi2

(a) =at fzastses, fou 8=, gadt © dual ¥zg o fufzst wee |

b) fa=s &9 20 3 (maar 70°), a@fe fges et Sust m= o 52 01

(c) TgSt dhut Juat sur=t B RIfa T wrod mm@ET 98t ySts g9t

(d) Fuat get fufset 35 B9 uye © oo 339 0 7€ fa uadl € g9at vag @l
fergr et uget 2 Sta wZevy 7| fen »et 68 met fan < fewr fee ez o
HaEet J1

(e) m JE&ET iz =8 € Ug<t € 9 AHeTHE J H39 B ¥ 8¢ g9

Hy T

B, =-"— @t=aZ adl
A 4n r? Trﬂ

m=8x10”JT"' r=6.4x 10° m §ye I o Y= d=ar B=0.3G
7 gt F ifus g37 2 ufers S wresg e 1

i f=& a9t gedt = u=q, frge & ug=t 4399 € Bagar J | HaTfaE N-5 T8
ier J rae o, fe fa duet ufew et @ aas |
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o -‘ %faar fefamrs

u—'——*

5.2

5.3
5.4

5.5
5.6
5.7

5.8

5.9

5.10
5.11

5.12

5.13
5.14

(a) af, fex mf &7 geee 71 i feurel 8 978 w99 © S8 AHT- W39 s gy
A A 01 UE g¢ s © 8¢ s 3 < fen fde 0= =8 ufesass ydt sg7
Si=t 5dt s

(b fa@fs inufamr Sfewr s (§ fe G e @9 3w 3 o erea 1) B0 Iuat
R

(c) T¥5 fer=ar uaat & niee 3316 fafenrmitesT 01y wins 89 sreadt fam
éﬂﬁlmwmﬁﬁ@ﬁgﬁﬂmaﬂ?mm@ﬂ—WQ
81 St wrafas v yage ugat gt 9

(d) ¥ s’ HE on gu aue gadint 0% I ugsEt € guat vae o fog fowr fagr
wfgsus Guar €9 7 vher 31 gost {99 oot feost Suat wfggusr &
fensns a8 »t 5-gadt fefzow Tt fifer yus a9 raw ot

(e} =72 femer g6t 7 (uast @ wrfesies fda) wrfest ot ort © avas Uer gudt
uFT I madl € gudl u9d (Fa sene T 7 0% (orferies 7-aodt fegsst,
A= fa dese U= wrfe 2 ufy yoa Aseadts O

(i foume g™ e wignTE, fow a9 @t iie guat dgv oefag et § agg

el

=7 W fEniH =78 gae wag ot aaar 3 § qter 71w gd@t @ ser, feat
=F wigy fenrA =8 dadl ganr @ st fevus e 3 fa frrs S= Garar
9%, ug S fewrs virga Iradl adtyt et oafag g=t (fre-amwmive fagst)
€ A § HiS=Uas €41 &8 yatfed =d AaeT 7|

0.36 J/T

(a) m BEAHETI I U= -mB = -4.8 x 102 .J; Favet|

(b) m, B & UfSAHSE &1 U = +mB = +4.8 x 10 J: »raret

0.60 T AEaElT € g &1 fowr fde, adz Tare o four T fsas9)

7.5 x10% 4

{a) i) 0.33 J (i) 0.66 .

(b) (1) 0.33 J ufewe &7 gvax 7 J9at Wi #few & B o four o5 fenrl= ot
yfeddt auer T4 (i) H15)1

fa) 1.28 A m* U8 & fonr 25, ade <oz ot four T fogee, M AR w9
wzrfxwmu?aa—ﬂa—rwr

(b} fea s gualt 499 <9 58 17 T 799 = 0.048 Nm faaet fogr wifadt
aﬁrfeanwﬁaauagyrrmaaa?%nﬁnmﬁﬁhvwfmrﬁz
&t @fi gger 31

d=mB/4rv)im=NA §TITF ¥ =1.2x10" kgm*.

B = 0.35 sec 22° | 0.38 G.

g O SEEl UFE gaife HatginE T ey 5 12° er i nere 9 fem udemy
3% f&Y, hﬁwnmﬁmzﬁa‘a‘tﬁ’—sﬁaﬁ?%wm“ o F= g=ger
g1 femer ufair= 0.32 G ¥

{al 0.96 G. S-N ferr =%

(b) (.48 G, N-5 four 5

0.54 G ga=t & Gudt d=q of fogr 2

14 x 1077 = 11,1 em ot Tdt I &9 AveEsTHE F|

N T e WL e Ny G B LR e L R L R e



5.15

B5.16

5.18
5.19

(@) (o) /(Arr®)=0.42x10 " fan T r = 5.0 cm YUz Jer 31

(b (2g,m)/(4a*) =042 210" A, r, =2"" r=6.3 cm.

(a) faus Iwnis 3, fam fam 397 &t =1 sndt ot wiz = & 5as © ggst & 9aat
H=a = ferr =% areas § 397 aos =8t yiwast uie 3 #iet 4

(b) ufse=eltuess e syd 299, ife guat iife, ey Jeagdt uze © @ four
e gur 0, 95 fene »iee uawrant & ot fag faal 2 72

{c) Bz faoruie, fa@fs famm yfagsst ueag 01

(d adtifFE fagues sy I numed ISuas =g v en's 3 feo St mume o fa
fors Fadt =& 4387 € B9t y o WS =T 4|

(e) (593 fe=og wa3 &) feq wos=uen I8 v YW, @ Wit & Sy a9
vt Ft Ity 3 Suat =t (B T B) O ivr me gt 3 wofas 1A il
Wiy BEt u >> 1, 3t H=E dur=t fen Wil 3 gy fied as ) few
F g fegafag fenrfimr Erurae e fer- Y= T vag 01

(f) TtIEsyyseet S EWE & Ug= Ot na St 9o 82 Mg wige & o &= 2,
I ifguz Suae &t verer (29 fia leversfes ueres = gaa= @R »rasd
o J2ariua, Ae ars feu I fo Afgus Saae o8, de fesoam gu fee @9
wHaETdt HFa ol &7 d=ait |

(b) weEs AatE = gaer | fafa y=t Sae e foneifarin gu & y=ees @ Ao
wgut 3|

(c) foit Budew (Fase) O Sua= uardt g o feq ws = ST eEs adt I
fem foim U992 ot feper W duae © fefzon 3 1 fagge geer d waa s
& dua= gaa fog Sw gam 3, »ife) | ovg meet (€9 adie 3t 99as 2T 1,
Yag= Sagt ot ore e oifady 3|7 99 999 & gusT fae (information bits)
T farg g FUE It fonfefors gy yeefie soe =8t fe=ne- g9aT Al
a5 TEI ga =t & 33t aan gadit|

(d) frafie feme gu s famia S8 &0 wiramrels) faast § Sodien S afae
o=l

(e) O HI9 § 590 &9 © efent 578 W | Juat ygd o=t Sfenr g R
Hr=aitnt w2 feaat 57 fwferr Sfewr ize 9aat 439 S yag o | ug feg
FarFar gafeng It T2 | @' uat 397 mefuns =dt, e fan a=iat g e
I5E 578 U F wodt faast bge T mefmm mas = 20 )

g% & Aviga Qud 2% 1.5 om &1 29t F)

R,, = 0.39 cos35° - 0.2
=0.12 G

R, = 0.39 sin35° = 0.22 G

R=JR,2 +R? = 0.25G

o=tan" R _ 620
R.h.
Fem @ Gug
R, = 0.39 cos35" + 0.2
= 0.52 G
R, =0.224 G

R =057 G. ¢ 23°
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5.20

5.21

B.22

5.23

5.24

5.25

(a) B, = (#IN/2r)cos45” = 0.39G
(b) ya= F e wigwrs get must ve fomr § Gue s2at
o g3 e ufewr=

_ 1.2x10% % sin15°
- sin 45°

=44x10°T

J2m, x aAw Gamr
eB
=11.3m
Guz 77 957 faiuz = R(1-cos) fAF sinf = 0.3/11.3. fer st fedu= || 4

mm T

Ay €9, d5 © na=t iz
=0.15 % 1.5 % 107 x 2.0 x10™
=454 T

wiay & ugst Witz yuz a9s set faSdft S food m— B/ TS
= 4.5 % [0.98/0.84) x (4.2/2.8)

=7.9JT"
u—.“.—in”—g‘i fAE u (Frindt SeaHtssT gIv O @9F &98 T YU T=ar)
B=448T.
U7 29 [0 AT, = - (e/2m) | aBTHITE 330t € viamre 31 fea w191

ufggar s93 @ Afint fe@sis aigr arraer
th = 1A = [e/ Tirr?

P d

I =mur =m

78 r Feramiera @am = wed e IR 3 m i v (o) Ton T fedaes
T <9 fea waar ydtaser T e o, /l=e/2m.

fa@fa fefmea 2 faz gam &, u T 1 YfaR ST s W3 Satmrafaer S g o
#agu i fewast p, = e /2m)l

fomrres folr far g, /1 & @2 y /ST WS e/ m S e gwwes o 3 yus
W & SgieT| feg wre Trar fifer (AR ytier enimer yndt 3 36t 3) wofaa a=tey
%Tﬁﬁm%mﬁﬁh@mmﬁmihﬁaﬂﬁm

HT AT

e e e e e e Tl e WE R gy



fa) qrpq =t femr =5
(b) prq & foEr =8, yex 2t foEr =0
(c) wzx &f fomr =5
(d) zyx & ferrss
fe) xry o four=s
(f) et yfas ade wat fatfa v=e aw=' gu aw ffanfas 91
{a) adcd @t ferr =5 pware ufesaas € A Aafa fee Swz oo eman suer
3, femeet ifaz gae, faadt esan e ga=r )|
(b) a'd’c’h’ & fenr =5 (fon W@ &9 emay et )
7ax 10%W
fa) 2.4 x 107V, ¥ 2 s JIa gfenm gaar
(b) 0.6 x 107V, 7 8 s I Afew guar|
100 V
@Jémﬁﬁﬁiﬂ?mm:nﬁﬂ cors ot
£=-Nwrr’B sinfaot)
g =-Nmn B
=20 x50 xmx 64 x 107" % 3.0 » 107 = 0603V
e BT WS YBE dae fET HT T

e = 0.0603 A

s = 5 € st sz = 0.018 W
iifa wie doet 3 ffa ws A Sare I 7 490t 9 e o fedy geer 7| fom &
i wrodt ST (FE9) T A8 I §S AT gargeT a=ar 7 e 97 ewra
&A1 55 73 T 0iFd § U9 gae 9T qIET § g AT a1 a8 unE (efeETs J
g7 fersdt B mrast et a8t fewd v Qe e gu few 0 oo T §ne A=
Hrodt @Ay ded 71

(a) 1.5 x 107V, (b) i@ T yge &5 (o) ya=t fAer
4H
30 Wb
B o7 yEeT wEy
= 5.0 x 10 * sin 30°
=25x 10T
&= Bl
e=2.56x 107" x 25 x 500
= 3.125 V
iifaz fawal 0w 58 3.1 V (FeEd Hat € 993 J99).
for ©'ge met iyt &t femr waa=dte 3 (e 39 G fufadt )
g feaet = 9a 88 = 8x 2% 107 x0.02 = 3.2 % 107V
fggage=2x=10"A
Faat &t aat = 6.4 % 10" W
fox gt O A3 AT € &1 dual 39 €Y ufdwes ges oe 998 aoe J|

| 3 k|




6.12 Y 3 faase B € avew swaw fda gee= &t ea
=144 x10" m* x 10° T s
= 1.44 x 10 Wb 5™
BY FwAHTs B 99 aidtvs I @ a9 eear fEe ufseeges dtee
=144 107" m* %« 10" Tem™' % 8 em 57!
=11.52%x 10°Wb s
fa@fa Sat ot usrava 2 forr T emam § We wee o, fen set Sar e yge 0
e 75| fer st Ufoz famst soa a5 = 12.96 < 10° v; Ufag a8z = 2.88
x 107 A\ fes ade €t forr Gu Tt 7 gu @9 fai wrave zfemr & eoaw
& Toe | fan Yy &8 gu AR ud ot 3 3t gy & see wEt St get 2 upie
&t ferr & @5z T2 | mifrr & o8 =95 Bt Js feyt fadt 3-

Dt) = j-aB[x, tldx
9 _ | f e dBLet)

ar dt

Q

dB ErB ade
dt  at Bx dt

[EB BB‘
at ax

j‘-' [E]E[x 1) BHIx,t}
ax

o

BH HB_
= A|ZZ
El't ax“

myaT famis wget ), 3t < few 39 fors 9 auer gt ¥ fy emaw faw
ufg=a=zas By &t a5t w3 Suat 49 & o € e ufesags S5t aes A T

6.13 i
g=jm:

——_[Edt

feF A =d

mwmuﬁ( = ] [gf I v e HE HEE IF & a9s Hastargs (Sudas
Suwfoa 9% 7 mHy &g (fa@fa few & yuz 595 59 a8 (Calculus) @7
316 ~ & fao




N=25R=0500 Q=75x%107C & =t
@ =0,A=20x10"m" @ =15x 10" Wb
B=d/A=075T
8.14 |e|=uvBl=0.12 x 0.50 x 0.15 = 9.0 mV;
P a&TaHa frar vig @ faeave fimr
(bl g*mﬁKir?aﬂaTwimaﬁ%mmmmmaﬁ?
[

(c) duatEm, fEaed ss T9s dRs T oo g feo fraeet e g o fafowt 3
@5z yfaest & =g goat aos Uer dfemr 71
{d) Wfez g8 = I8
_E_\m"u’
hE!nlf.!
=75 % 107N
fe) BESE 12 cm s’ T Aws argt fEe sevet due st gadt iz e Quaas
Hferz g2 2 fady oo 38wt
=75 x 107 %x 12x10% =90 % 10" W
A K ¥5T 7 37 a9 gadt vaw &41 391
(f) PR=1x1x9%x10°=90x10°W
fer st o 7=, gdt i e yers g oot d fam ot Bus s S
et i
(g) ¥ie; == ot oSt 439 vt & Aot a9t 3 (B PO O swEt § aut fSest
gdt @ 59T Hiznm 4]
B= P NT

6.15 =

(A@aTTes ¥ wed ffod® 3 g9
_ HgNT
=

ya& e%an O AUAS = No

*x0.5T=0.15m

i A

 HN*A
=

(B &9 fafanit © gos= &t Qufir a3)

I

d
! -
|E|—d1f|"¥'¢"}

55 AHT

€la

_ 4rx107 x25=10™
LN 0.3x10™

&l % (500)* x 2.5

=65V 311
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7.1

7.2

7.3
7.4
7.5
7.6
7.7
7.8
7.9

7.10

7.11

7.12

{a] 2.20 A
(b) 484 W

{a)

(b) 1042 =141A
15.9 A
2.49 A
g ni=RyT few 19
125 s 25
1.1:% 10% 5
0.6 J, ¥ &9 <t gorgg ggar|
2,000 W
gl LT 1
2\ LC " AL
L = 200 pH ®8t, v = 1200 kHz, C = 87.9 pF.
L = 200 pH S€t, v = 800 kHz, C = 197.8 pF.
ufg=adt autres & aineT &t 39 Ho9ar 88 pF T 198 pF J =t avdtet I
{a)l 50 rad s
(b) 400, 8.1 A

(€) Vi =1437.5 V, V. _=1437.5V, V

je, C=

=230V

Himis

1
¥ =1 L- =0
Lrmis r'rn.s[mn muc)

(a) 1.0J. 7, Lo CfSo fegst@am oAz meiimz da R= 01
(b} w=10"rads ', v=159 Hz

¢) g=gq,cos wt

e=0.7.T, *""Q_T oo T s} Qamr ot 33t fewelt @uvr 3




== 21 81 -
W) t=-. ==~ s R T = 6.8ms 3 fedst Goar ydt Iyt

Fuat 3| nigerg femst Gewr FT )

mﬁw_i.l[gcl]awqﬂmﬁma.

2c 2

(e) few 3yt wa few R, LC %at § niifes a9 foer iz fde de wifaw
G5 (= 1.0 ) Iw o @ gu RS & T wiet &

LR ¥a&e S, # V = V, sinat

¥
I= mt‘“""*i,hﬁ' £ .
et npeiatif®

(@ I,=1.82A
b) t=0F VvoiTaaw I w3 t=(¢ /o) T Iis wioasy T
L At ¢ =57.5°

2y
gF,. tand = = =1571

I,=1.1x1072A

tan ¢ = 100 &, ¢, n/2 & 3F T}
I, T nrfest niemar (ufamrm 7.13) & g e gt die § 7 o

e I fg@ewfedt 2 Lim moae St gt aan sgerd | faf de Aeae
& (/ramet niEwET @ §0e) @ = 0, fA¥ L ffe o ovaw &t 39t e aaer

B
RC #agz 8€1, AV = V, sinot I93*

v, 1
I= sinfot+ Bl —
]R“ +1/eC) ©r+e) fea g wCR

(a) I, = 3.23 A

(bl ¢=335°
fereet e 8o = = 155 ms
1]

fa) I,=3.88 A

(b) ¢ = 0.2 §onrfest 3 fev samar w1 01 few et o wfaat 3 C vom
Tt Ig7 F97 a9 J dc ATEE BET AETE! HEAET  BE o = 0 WE C fiw
Y& Aoae St gt Eed e I

AWTET LCR Feae ot yg=t yfg=or few 3t &gt et 3

'*I




314

7.18

+7.19

7.20

o =, —T.._'—'_Qﬁ'iﬁﬁ’l-la

fewset | Z|, o = o, F wifgaay T w3 g8 ade nray fa@aar )
" R few, Iy, =575 A
myr Lfes, 1

L1, =092 A

rur Cfew, 1, =092 A

frs fo€ A ade 1, =5.75 A, R8T Lw3 caw=i few ade 180° @8
au f&g 95 w3 G99 @ ovg fee 3 feost o S g a1

[a) V= V¢ sin @t HET

g8 dol> l/foC T+ R8T @ F al < 1/0C
=116 A, I =824 A

(B) Ve =207V.V. ., =437V

Lrinz
(firs 6. 457 V - 207 V = 230 V =331 18t rms 827 & g9ag =7

grdter &1 LwT ¢ fafant I Sz 180° @B an e 02 @ o wer
E= L

(c) Lfeggdz 1899 99 1 72, vinw fFa 382A, T3 58 n/2 war 31 ferset
C enraT yadt atet FE I g g

(d CBErE|EF I T /2 iE T 4T Cc ower vew At maST HiT T
(e) &% yagST=t Ha=T Higd
I.=726A

uf3sy R enier v SSt AEst R=
L enwar 4ad Sidl igal = C ©dT Had aigt #a3t = 0

5 ygg ISt Hadt = 791 W
(a) @=4167 rad s ': v, = 663 Hz

Crra

I =141 A

(b) P=(1/2)12Rr 7GR »rfeat (663 Ha) T nifaarsw 3 fawe =t [, mfaasw
9P, =0/2)01, )" R = 2300 W.

() Al w=a, + Ao (BIF 81 4 7 (R/2L) << a,).

Aw= R/2L = 95.8 rad s, Av = Aw/2r = 15.2 Hz.
v = 648 Hz W3 678 Hez T favg ma=t, yvaw o=t aast of wigt 71 feost




7.21

7.22

7.23
7.24

7.26

7.26

wrfetor 3 ade e I, BT (1 7 /2) T 3 vmers ade nren (g
Ferdt fent 9 3) 10 A T
(d @=217

ar= 111 rad s7'; @ = 45Q &7 W'& Fg/=" 595 BT a, Ufesafzz &2 fast R -

T 3.7 Q3 iz 79

(a) T feT rms TWew € wEt i wat 7 fatfa Sy v weat & fafont 3 S52w
9 q& {99 &dT d Aadt & | Geruas s, wifenw 7.18 o @3 o

(b) ﬁmﬁﬁzmw&?%f{ﬁaaﬁ?%ﬂmﬁmmm
Fafawr Fer 9 7 fEaret (Ruee) 3 59vw gaer 3, wife

(c) dedde &6, Lt yfgea Gt I w3 oot oo favmer (nid =) 3, ferset

de g3 FaF C ¥ A 2 3¢t 31 @9 wrfest ac 8z =91, Lt yfaeor &9
I wF C o HgF wiz| for 5t ac g AET L & fAg 3 e 7

(d) WEET »ERET de X9€ S L O T ygre 501 T 90 fen & &7 @ S 2 udar
&% fa &7 sufen 72 | ac a9e B¢, By g7 A TEg yfaew @ a9s
v foni fenrelt 9231 fed 3u-a7 @ foews 578 9o Styfseor few ey
J=ar fAR s §%E o Ist 99 9 ulr 9ve TET T At

(e) mﬂwimﬁwﬁaw&mhﬁs?mmﬁmﬁgmm
mufamw@aweauﬁqma’re*ﬂmm -

400

u= famst ga3t = hpg<Axv=hpg B

e g= Aum%fhﬁwﬁwéwmwﬂwm%&ﬁwa

Sumay faast sadt = 0.6 < 300 x 10° x 9.8 % 100 W

= 176 MW
wrets ufsew = 30 x 0.5 = 15 Q.
800> 1000W
Wﬂﬁﬁ?nﬂsﬂﬁ?=x—-——:2mﬂ
4000V

(a) &5 few famst & = (200 A) x 15 Q = 600 kW,
(b) AWIT evmar faWST AUSTET = BO0 kW + 600 kW = 1400 kW,
(c) & fea UeHE®S 70 = 200 A % 15 Q = 3000 V.

frorge feg weu »r iReTand 440 V - 7000 V 31

Eh::smxmmw:m&
40,000V

{a) Bl fofe famst & = (20 A)® % (15 Q) = 6 kW.

(b) For=T ewmar faast AusTET = 800 kW + 6 kW = 806 kW.

(c) =Ets feg ydEs 570 = 20 A x 15 Q = 300 V.

fir=e few Hau miu ZiAeaHa 440 V - 40. dﬂuvﬂ‘lfezrma?irh%
SHed AT o UStHI BaaT H 593 Wi T e T1us 725 few, oo
AEST # (600/1400) x 100 = 43% 7| few us few fram (6/806) x 100
= 0.74% T

315




C=¢gA/d=80.1pF
d@ _ .4V
dt — dt

%=ﬁﬁ_ﬁ—= 1.87x10°Vs™
(= oy g i St S S Gl g ¥R 3 e
it udet & feg @, = EA

d

fomset Iy = 64 at

p. 9 dE_ 1 ST HL=i=0.15A
“E_an' & dt's,ﬂ'mﬁ I

#t at, wag fow & fg a%e 3 e 3T 9Es o3 feraws ade T AF 31

[ =V _ oC=69A
at, nifawa 8.1(b) Ot fe@auTt ST A AT TSN AT (AN T 5B TS5 a9
far =)

o T
B B R
yzr=t afirer § ot St 79 (, (03 fenmEl B) AW € &5 5655 w9eT 31§39
mwder I fa Gu au feu ¥8s @9@ o fal@fe ( = i femmet

B, = g‘—;%iﬁ , fAl B, W3 |, ried 865 g9 Yual HI9 »d qae & nwH

T =21 _=9.76 pA. r=3cm ™I R=6cm; B, = 1.63 x 10°'T.
fegera feg i faAs-9eal IO A TEFTTEI Tl c=3x 10" m s™.

E %3 B x-y WSS €9 75 w3 niruw fea 9gu os, 10 m.
TdaT HETEt €3 : 40 m - 25 m.

10" Hz

153 N/C

{a) 400 nT. 3.14 x 10" rad/s. 1.05 rad/m, 6.00 m,

(b) E = { (120 N/C) sin(1.05 rad/m)lx - (3.14 x 10" rad/s)t]}
B = { (400 nT) sin[{1.05 rad/m)lx - (3.14 x 10° rad/s)tl} k

Zzs Qaar (A= 1 m &)




_ 6.63x10™ x3x10"
= 1.6x107"
fermgaat mileey © (939 &9 J9 390 Sumdtnt wet Sovs Gorm yruz w98 sot
10 ST BT AIEMT WSt &8 =T a3 e 7| fai 77 o Gt
g2 ©f Gon A= € gRare G lua' & vizas =5 ferer sget § | Sora9s =9,
&2 GaWT = 1.24 % 10" eV = 1.24 MeV @ #ar3 33@@9et A= 107 m 71 fewr
ferar gt d fa wrfast Qavr tuet i (frost vuer & fegars zaritns avas ¢
ﬁwﬁﬁﬂiﬂhﬁaﬁmwﬁeﬁ‘mlmcvwﬁawmmfmaw.fw
FIUHAE A= 5« 107 m € Farg @& Qv = 2.5 eV i fov eon@er 5 fx
Qo et (frwat tuet & fegars 2avine fon fefage féur 3) @ fevars i@

SH ¥ eV ¥ WFTE T

eV =124x10°%cy

fa) A=(c/v)=1.5x 10" m

(b) B, =(E/d) =16x107T

(c] E 439 &9 Gow wear u, = (1/2)¢, E*
B 439 &9 §awr wagr u, = (1/2y,)B°

- b
E=cBWMd c= —— TYANITB u_ =1,

VHE o

(a) - j. (b) 3.5 m, (c) 86 MHz, {d) 100 nT,

(e} ({100 nT) cos|(1.8 rad/mly + (5.4 x 10° rad/s)t)

(a) 0.4 W/m®, (b) 0.004 W/m*

Iunrs T e fils, ssadaret o fea sarare fuaey e geer ) faf & =

fefaae &t miftaay Shwesr & A9rs 3391 Suvet usta faon & nawme foat ast

d:4,=0.29 cm K/T, 1, =10° m, T= 2900 K & &5\ Tv F5ar S5t & frarg

I T UF EIS 7 AEE 9% | feg Afvmret fawsgaet AleeH & $9-2y gar

few feaget €t yrust st s R & fei e Sndtn 0w | fow w9t fow faee

U=t mE, i B8 A= 5% 107 m 3T R 9 3uHS S9r9ar 6000 K T gt

d | famrs fo® : fa e 3 e 3ruws = fem Foar Savdt § Uer gaar uo Gret

Frag3sT rg F U 597 g2t

(a) T (Bw 3d St fra)

b) G (ww 3391 Faret fram)

(c] HuW Fdar

(d) fowfefagzt nitar)

(e) X-fagat (A7 Aree vfaes) 439

(a) »rfesvizs fogst 8 Jwt g9ar ufrsefas 9o

(b) Eovans faa Wieslas o afes gu feg uar=efag st av as (urs
yr=a o) for 53t ugreass Guafost erar after wier

(c) =g Wes X-faaat § Afuz aeer & wefa fom w2 5516 star fer feg e
HT e T8 |

(d) feo gow 3 Qenefag uerieret fefage’ & Afug ga 8o I vid waat StAar
3 Uwa 3 §aer I T Hiws § &6 0= T sor@er I
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